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ECE 300
Spring Semester, 2004
HW Set #8
March , 2004 Name [)( ALY
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Use engineering paper. Work only on one side of the paper. Use this sheet as your cover
sheet, placed on top of your work and stapled in the top left-hand corner. Number the
problems at the top of the page, in the center of the sheet. Do neat work. Underline
your answers. Show how you got your equations. Be sure to show how you got your
answers. Each problem counts 10 points.

9.6 ~PL=Pc=0W; P,=172W, Ps=343W, Pgp12=7:65W, Pass = 2.52 W
9.11/ P4=104W

9.157 P,=21.16 W, P; =529 W, PL=Pc=0W, P, = 14.83 W (supplied)
Plsource = 11.61 W (supplied)

9.187 P, =324 W

9.21 7/ Zy =5 ohms, PL=528 W

927 ~Z; =0.6-j0.8 ohms, P =47.8W
9.34 /Vims =231V rms

9377 Vi =163V rms

9.50 / V, =301.4£7.89 V ms

9.53 V,=288.2£8.48 V ms

9.58 v'"C=4103 uF

9.61 <C = 586 uF
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